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COMPUTER SCIENCE
Maximum : 60 Scores Time : 2 Hours
Cool-off Time : 15 Minutes
rGenerazl’ Instructions to Candidates : )
. There 18 a ‘Cool-off Time’ of 15 minutes in addition to the writing time.
. Use the ‘Cool-off Time’ to get familiar with questions and to plan your answers.
. Read questions carefully before answering.
. Read the instructions carefully.
. Calculations, figures and graphs should be shoun in the answer-sheet itself.
. Malayalam version of the questions is also prouvided.
. Give equations wherever necessary.
. Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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Answer all questions from question numbers

1 to 5. Each question carry one score.
5x1=5

1, 1s a storage device that uses
laser beam to read and write data.

2.  Write the dual of the boolean expression
(x+0)(y+ 1)+ (0y).

3.  The algorithm that consumes minimum
amount of is to be considered

as the best algorithm for a problem.

4. function is used to input a
string with spaces in C++.

5. The scope of a variable declared within
a function is

Answer any nine questions from question
numbers 6 to 16. Each carries two scores.
9x2=18

6. Why air conditioner was necessary for
the proper working of first generation
computers ? 2
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10.

11.

12.

Convert the following numbers to

Binary number system. 1+1=2

(326)g

(BY6A) ¢

Write any two differences between RAM
and ROM. 2

Write an algorithm to find the sum of
first
inputted. 2

‘N’ numbers, where ‘N’ is

Classify the following literals based on
their data types. YVox4=2

‘v, 0, 25, 1520E04

What are preprocessor directives ? How
do they differ from other C++
statements ? 1+1=2

What is r-value and l-value of a
Illustrate with an

1+1=2

variable ?
example.
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What is the role of 4f statement in
1+1=2

13. (a)
a C++ program ?

(b) Rewrite the following C++ code
using ‘if statement.

i result=(batch==1) ? ‘A’ : ‘B’

14. (a) Why do we need arrays in C++ ?

1+1=2

(b) Declare an array to store the name
of a person.

15. Distinguish between actual parameters
and formal parameters. 2

16. Explain any two threats that affect a
computer network. 2

Answer any nine questions from question
numbers 17 to 27.
scores.

Each carries three
9x3=27

17. Write short notes on the following
computing machines. 3

(a) Abacus
(b) Napiers Bones

(¢) Pascaline
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18.

19.

22.

23.

How do you represent — 127 in memory
using the following methods ? 3

(a) Sign and Magnitude method
(b) 2's Compliment method

(a) Draw the logic symbol and truth
table of NAND and NOR gate.
(b) Why NAND and NOR gates are

called universal gates. 2+1=3

Briefly explain various phases in
programming. 3

Write short notes on the following
tokens in C++. 3

(a) Keywords
(b) Punctuators
(¢) Identifiers

What is type conversion in C++ ? Briefly
explain two methods of type conversion
in C++. 1+2=3

(a) What do you mean by sorting an
array ? Name any two sorting
techniques. 3

(b) Write down the pass or steps to
sort the following array using
bubble sort.

[21, 10, 23, 12, 15]
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24,

25.

217,

How strings are represented in C++ ?

What is the need of “\¢’ in strings ?
2+1=3

What are user defined functions in
C++ ? What is the advantage of using

functions ? 2+1=3

Why do we need computer networks ?
Write any 4 advantages of computer

networks. 1+2=3

Explain any three features of Android
0S. 3

Answer any 2 questions from question

numbers 28 to 30. Each gquestion carries

b scores.

28.

2x5=10

(a) What is an.operating system ?

(b) Why operating system is the most
software in a

1+1+3=5

important
computer ?

(¢) Explain any three major functions
of operating system.
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int main()

{

1+3+1=5

mtn, i=1;

long fact=1;

Cin >> n;

label :
fact =fact*i;
1+ +;

if(i<=n) goto label;

Cout << fact;

}.

Answer the following question based on
the C++ code given above.

() What is the output of the program
if ‘5’ is inputted.

(b) Rewrite the codée using for loop.

() Why the variable ‘fact’ is declared

as long data type ?

What 1is
networks ?

topology of computer
Write notes on three

network topologies. 2+3=5

~00o0-

FME 30/ Computer Science

29.

30.

mt main{) 1+3+1=5
{
intn,1=1:
long fact=1;
Cin >> n;
label :
fact =fact*;
it +;
if(i<=n) goto label;
Cout << fact;
}.
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